Q.P. Code : 05619

[Time : 2 Hours] [ Marks : 60 ]
Please check whether you have got the right question paper.
N.B: 1. All questions carry equal marks.

2. Figures to the right indicate marks.

Answer any two of the following : 15
(@) Write a note on development and development gap.
(b) Explain the concepts of per capita income, inequality of income and wealth.
(c) What is food security? Explain.

Answer any two of the following : 15
(a) Discuss the Ricardian Theory of Development.
(b) Explain the Karl Marx's labour theory of value.
(c) Examine the Schumpeter theory of economic development.

Answer any two of the following : 15
(a) Explain the importance of industrial sector in economic development.
(b) Examine the model of complementarities between agriculture and industry.
(c) Explain the importance of choice of technology in economic development.

Answer any two of the following : 15
(a) Examine the cost - benefit analysis
(b) Explain role of fiscal policy in developing countries.
(c) Write a note on WTO and developing countries.
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